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ED–2646 

B. Sc./B. Sc. B. Ed. (Part I)  

EXAMINATION, 2021 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours 

Maximum Marks : 33 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory.  

bdkbZ&1 

(UNIT—1) 

1- ¼v½ fuEufyf[kr dks muds c<+rs vEyh;rk ds Øe esa fyf[k, %  

        1 

CCl3COOH, CH3COOH, HCOOH, ClCH2COOH, 

Cl2CHCOOH 

Arrange the following acids in the increasing order 

of acidity : 

CCl3COOH, CH3COOH, HCOOH, ClCH2COOH, 

Cl2CHCOOH 
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¼c½ dkchZu CCl2 dh ,dd ,oa f=;d voLFkk dks le>kb;sA 3 

Explain the singlet and triplet state of carbene. 

¼l½ vfrla;qXeu dks mnkgj.k lfgr le>kb;sA 3 

Explain byperconjugation with example. 

vFkok 

(Or) 

¼v½ izsjf.kd izHkko D;k gS \ dkcksZfDlfyd vEyksa ,oa ,ehuksa dh 

vkisf{kd izcyrk dks izsjf.kd izHkko ds vk/kkj ij 

le>kb;sA 3 

What is Inductive effect ? Explain the relative 

strength of carboxylic acids and amines on the basis 

of inductive effects. 

¼c½ eqDr ewyd D;k gaS \ bldh vfHkfØ;k,¡] lajpuk rFkk 

LFkkf;Ro dk o.kZu dhft,A 4 

What are free radicals ? Describe the reaction, 

structure and stability of free radicals. 

bdkbZ&2 

(UNIT—2) 

2- ¼v½ fn, x, ;kSfxd dk R o S foU;kl Kkr dhft, % 1 

Assign R or S configuration of given the following 

compound : 

  2 5

H

C H COOH

OH

     

¼c½ izdkf’kd leko;ork ls vki D;k le>rs gSa \ VkVZfjd 

vEy esa izdkf’kd leko;ork dks le>kb;sA 3 
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What do you understand by optical isomerism ? 

Explain it by taking the example of tartaric acid. 

¼l½ okYMsu buoZtu dk foLr`r fooj.k nhft,A 3 

Give a detailed account of Walden inversion. 

vFkok 

(Or) 

¼v½ E rFkk Z ladsrd }kjk fuEukafdr ;kSfxdksa dk foU;kl 

fu/kkZj.k dhft, % 1 

Assign the configuration of the following 

compounds by E and Z system : 

       

3Br I H CH

C C

|| ||

C C

Cl F Cl H

  

¼c½ jsflfed feJ.k ds fo;kstu dk o.kZu dhft,A 3 

Describe the method of resolution of racemic 

mixture.  

¼l½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 3 

(i) ,ihej 

(ii) izfrfcac :i 

Write notes on the following : 

(i) Epimer 

(ii) Enantiomer 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ lkbDyksgsDlsu dk dqlhZ :i] uko :i ls T;knk LFkk;h 

gksrk gS D;ksa] le>kb,A  2 
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Explain why chair conformation of cyclohexane is 

more stable than boat conformation. 

¼c½ D;k gksrk gS tc lkbDyksizksisu dh fØ;k czksehu ls djkbZ 

tkrh gS \ 2 

What happen when cyclopropane react with bromine ? 

¼l½ la:i.k ls vki D;k le>rs gSa \ n&C;wVsu ds la:i.kksa dk 

ÅtkZ vkjs[k lfgr o.kZu dhft,A 3 

What do you understand by conformations ? Explain 

the conformers of n-butane with energy diagram. 

vFkok 

(Or) 

¼v½ lkbDyksizksisu esa dsyk vkca/k dks le>kb;sA 3 

Explain the banana band in Cyclopropane. 

¼c½ 1] 2 ,oa 1] 3 f}izfrLFkkfir lkbDyksgsDlsu ds la:i.k dh 

O;k[;k dhft,A 4 

Describe the conformation of 1, 2 and 1, 3 

disubstituted cyclohexane. 

bdkbZ&4 

(UNIT—4) 

4- ¼v½ ,Ydkbuksa dh vEyh;rk ij fVIi.kh fyf[k,A 2 

Write a note on acidic nature in Alkynes. 
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¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 4 

(i) 
42

conc. H SO

3 2
175 C

CH CH OH A   

(ii) 3 2 3CH CH C H CH
|
Br  

alcoholic
A

KOH
main product

 

(iii) 3 2CH CH = CH + HBr main product  

(iv) 4

2 4

HgSO

H SO
H C C H A  

Complete the following reactions : 

(i) 
42

conc. H SO

3 2
175 C

CH CH OH A   

(ii) 3 2 3CH CH C H CH
|
Br  

alcoholic
A

KOH
main product

 

(iii) 3 2CH CH = CH + HBr main product  

(iv) 4

2 4

HgSO

H SO
H C C H A  

vFkok 

(Or) 

¼v½ ekdksZuhukQ ds fu;e dks mnkgj.k lfgr le>kb;sA 3 

Explain Mankowniffo’s rule with suitable examples. 
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¼c½ ,sfYdy gSykbM ds foyksiu vfHkfØ;k dh fØ;kfof/k dk 

o.kZu dhft,A 3 

Explain the mechanism of elimination reaction in 

Alkyal Halide. 

bdkbZ&5 

(UNIT—5) 

5- ¼v½ VkyqbZu esa ukbVªhdj.k csathu dh rqyuk esa vklkuh ls 

gksrk gS D;ksa \     2 

The nitration of toluene is easier in comparison with 

that of benzene why ? 

¼c½ csathu dh fuEufyf[kr fØ;kfof/k dks le>kb;s % 4 

(i) lYQksuhdj.k 

(ii) gSykstuhdj.k 

Explain the following mechanism of benzene : 

(i) Sulphonation 

(ii) Halogenation 

vFkok 

(Or) 

¼v½ (4 2)n e  fu;e D;k gS \ lkbDyksisaVkMkbfuy/kuk;u 

,sjkseSfVd xq.k iznf’kZr ugha djrk gS D;ksa \ 3 

What is (4 2)n e  rule ? Cyclopentadienyl cation 

does not show aromatic character why ? 

¼c½ csathu ds bysDVªkWuLusgh izfrLFkkiu vfHkfØ;k esa ukbVªks 

lewg esVk tcfd ,ehuks lewg vkFkksZ iSjk fnf’kd gSA 

le>kb;sA 3 

Electrophilic substitution reaction in benzene 

nitrogroup is meta and amino group is arthopara 

directing. Explain it. 
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